4

3

B 4

2

/(I! CENTER HINGES PER SECTION

MAX. DOOR WIDTH 24'-2"

7

6" C—CHANNEL

VIEW "E”

* STRAPS PER SECTION.

3" ROLLER CARRIER PART
# 0120394. MOUNT WITH
QTY 3 SELF DRILLING
SCREWS AS SHOWN

OR INTERMNATIONAL BUILDING CODE BUT DOES NQT MEET THE
IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS

REGIONS (FBC / IBC CHAPTER 18).

CLOPAY MOOEL 3200 76 G BENOR STEEL SOV Up 10 auzw 4 150 v
2 X OPTIONAL SINGLE PANE OR INSULATED winDow LEs. | REV. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
HOLMES MODEL 240/240G: 24 GA. EXTERIOR STEEL SKIN ALL PANES ANNEALED GLASS OR STRONGER. SINGLE
TS Tp—— oo e i f e [0t | - Joepaorz Lo ] - [ revien for
. . " Cl
AT EACH INTERMEDIATE HINGE LOCATION. WITH (10) PUSHTITE PAN #8 X 2° PHILLIPS HEAD 05 = 06/2013 - - REMOVED ACRYLIC/WIRE GLASS. ADDED GLAZING SIZE FOR FV.
BACKER PLATE ATTACHED WITH DOUBLE SIDED U-N;E&SECT'ON A-A SCREWS, (3) ON EACH HORIZONTAL EDGE, (2) ON EACH
ACRYLIC ADHESIVE TO BACK OF DOOR. s Fo Al I— VIEW 'B’ VERTICAL EDGE. MAXIMUM DLO 21-3/8" X 5-1/2". 06 - 08/2016 - - REMOVED WIND SPEED TABLE.
— z FHSTABEETIOR ROTLERTERAGKER 07 - |02/2022 | - - REVISED FOR TDI.
= . - k ;" = C—-CHANNEL — SEE SECTION A-A FOR DETAILS
Vi Vi Y W 4 4 OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT)
OFTIONAL ALUMINUM FULL VISION WINDOW LITE SECTIONS AVAILABLE, ~ OVERLAP  — 16 GA. MIN. GALV. STEEL DOUBLE END STILE
(WY SINGLE PANE OR INSULATED, ALL PANES ANNEALED GLASS OR (EACH SIDE)
- - - pr STRONGER. SINGLE PANES " OR THICKER. INSULATED WINDOWS " THICK, sz .
CONSISTING OF (2) P, " THIC DLO: 33"
¢ ¥ || # “ ol | ¥ # DL VN e T v e s 33 X e/t JAMB CONFIGURATION
A SECTIONS EXCEPT AS NOTED. 7 |
INSIDE SLIDE_BOLT
EW A’ mgﬂ Eﬂgfc Easoﬂrf |60cv!£< THIS PRODUCT COMPLIES 2 —\
(MIN) TRACK. ONE LOCK ON WiialE 201BYIEC/mE: SEE JAMB 14 GA. GALV. STELCL CENTER HINGE FASTENED TO
LOCKING EACH SIDE OF DOOR. ATTACHMENT INSIDE SKIN W/(4) #14x5/8" SHEET METAL SCREWS.
REQUIRED ILLUSTRATIONS (VEW "B")
B '3 8" C—CHANNEL STRAP; (7) AEETZ?&K
-~ ; ) 7/16° PUSHNUT INSTALLED ON ROLLER SHAFT
gmls%: :Ezg;;'g'z‘s ?‘:Tv'é’"(‘;'; THE OPTIONAL GLAZING  SHIOWN, ON' THIS DRANNG MEETS THE
. D COnE o aes o 14 GA. GALV. STEEL ROLLER HINGE FASTENED TO END STILES

W/(4) #14x5/8" SHEET METAL SCREWS AND (2) 1/4"x3/4"

SELF TAPPING SCREWS. (VIEW "AT)
3° STEEL LONG STEM ROLLER

SECTION B-B

Yy HORIZONTAL TRACK SUPPORT BY
RO el iR ATTACH THE 6" x 2—1/4"x 12 GA. STEEL DOOR INSTALLER (TO SUIT)
PTG 5 REINFORCING PLATE TO ‘THE UNDERSIDE OF THE
§-3" THRU 10" C—CHANNEL WITH (4) 11/
A IR 1020, 1 & SELF TAPPING ‘SCREWS. A1 ThEae docaTions.
ol 1T TV o 3% GALV. TAPERED STEEL TRACK AND ANGLE, SILICONE FILLED CHANNEL SEPARATES
14—3" THRU 16'—0" | 8 4 TRACK THICKNESS: .101". ANGLE THICKNESS: .080" FRONT AND BACK SKIN OF DOOR
16—3" THRU 18'-0" | 9 ™R VERTICAL/HORIZONTAL TRACK . 1.95" THICK, 1# DENSITY .
WAL SECTION TEIGHT: 2 ) \_i"'ﬁfif";%“'m‘;"’a 174" BOLTS o e EXPANDED POLYSTYRENE T/ 7% ™I 3" TaLL x 20 GA. GALV. STEEL U-BAR. ATTACHED ONE AT THE
g || SLOT TO TRACK JUNCTION FOAM INSULATION LAMINATED : TOP OF EACH SECTION EACH U—BAR ATTACHED WITH (2)
] ROTE: THASK @ " IEXERICRRANC 1/47x3/4" SELF TAPPING SCREWS AT EACH BACKER PLATE & 4
(4) #14x5/8" SHEET CONFIGURATION ABOVE « ADDITIONAL MOUNTING SLOTS REQUIRED FOR DOORS ' SCREWS ON EACH END STILE
METAL SCREWS THE DOOR OPENING S OVER 7'0" HIGH SPACED AT 12° CENTERS.
DOES NOT AFFECT THE 8 =t 12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH BRACKET
WIND LOAD RATING OF " TRACK CONFIGURATION ATTACHED W/(4) #14x5/8" SHEET METAL SCREWS. ADJUSTABLE
IS RESE £ ONE %" TRACK BOLT AND NUT SLIDE ATTACHED TO TOP BRACKET WITH (2) 1/4"x1/2" BOLTS AND
g -t AT EACH MOUNTING SLOT NUTS PER BRACKET. (2 BRACKETS PER SIDE)
x LOCATION.
(2) 1/4"x3/4" SELF 2 1-1/4" WIDE MIN. x 16 GA. GALV. STEEL STRAP. EACH
' TAPPING SCREWS 2 TT TONGUE AND STRAP ATTACHED W/(3) 1/4"x3/4" SELF TAPPING
B . 14 _GA. INTERMEDIATE HINGE g DOOR GROOVE JOINTS SCREWS (TWO TO DOOR, ONE TO C—CHANNEL).
14 GA,_END HINGE b HEIGHT | "
A View B =0 | 88 ONE 5/16" x 1-5/8" LAG SCREW
T w X = . Y e
E‘;Yr . 20190, SPACED AT THE SAME DISTANCES AS THE SXn2 i X 12 GA. STEEL PLATESSEE VIEWASE
I 367 TRACK 8OLTS (LE. 3—1/2", 10", AND e
50 EVERY 127).  ALSO TWO LAG SCREWS VIEW C
—10" 72" LOCATED ABOVE VERTICAL/HORIZONTAL 6" TALL C—CHANNEL
L 84" | TRACK JUNCTION. 14 GA. GALV. STEEL ROLLER 16 GA, GALV. STEEL
96 HINGE. (SEE VIEW A) MIN YIELD STRENGTH 50KSI
Bl e 24 GA. MIN. EXTERIOR STEEL
P WITH GALV. &POLYESTER FINISH ONE 6 TALL, 16 GA. C—CHANNEL PER DOOR SECTION. |-—s —-]
1) 1/47x3/4" SELF TAPPING SCREW PER END STILE AND
o 27 GA. MIN, INTERIOR STEEL SKIN ( )
: WITH GALY. & POLYESTER FINISH BACKER PLATE LOCATION. (SEE VIEW "C") 1 2-1/2"
~»
e - 5/8" - |-
e 12 GA. GALV. STEEL BOTTOM BRACKET. ATTACHED
2 H f‘ NOTE: THE DESIGN OF THE SUPPORTING WITH (4) #14x5/8" SHEET METAL SCREWS.
v %;uga_b&m; FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM STRUCTURAL ELEMENTS ARE THE RESPONSIBILITY DESICN ENGINEER: MARK WESTERFIELD, P.E.
‘) ONZCENJER_DISTANCE. HIGHEST ANCHOR INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING. OF THE PROFESSIONAL OF RECORD FOR THE FLORIDA P.E. #48495, NC P.E. §#23832, TEXAS P.E. §#91513
> : BUILDING OR STRUCTURE AND IN ACCORDANCE { ADS: .0, —25.0 PSF
“VMOOD JAMB ON CONCRETE STEEL JAMBS WOOD JAMBS WITH CURRENT DING T ALUMINUM EXTRUSION & VINYL WEATHERSTRIP. ~DESIGN 1OADS: 425.0, ~25.0 P IMANUF ACTURING PRODUCT CODE:
. s TH ENT BUILI CODES FOR THE LOADS i MPC: C-DSIE-1F447
A e 2,000 PSI MN 3" . sem. 3/E-1/2" M, LISTED ON THIS DRAWING SECTION A—A (SIDE VIEW) '
EMBED LAG SCREW )
3/8° DA x 1-1/2" EMBED A 1-1/0 WASHER REQD. Unless Stated Otherwise |l ﬂl 8585 Duke Boulevnrd CLOPAY WINDLOAD RATING
1/4%1-1/2" MIN, MAY BE BACK=FILLED ‘./ 20" MAX. O.C. TO M OH 45040
= WITH CONCRETE, BUT : SECURE 2+6 WOOD - = ason,
MRS NG D i s, v | Wi o /- S i | S e e e TOLERANCES o= | uum WIOP@AY Y550 %1557 o0
SECURE 28 JAMB 1 WASHER REQD. APPING - To Sccuke - R T 0 = +.031 CORPORATION Fox No. 513-770-4853
/ SN EDe D, 10 Conemert e STERL e, i o 638 = 1'832 DESCRIPTION: MODEL 240/3200/3220 WINDLOAD 24'—2"
- CLOPAY CORP. . = 0
SONTAUOUS o:r’g”.ig ”%uu'"s"m% ?ﬁﬁwfmﬁﬂnﬁ ELECT m% ). WELD ALL RIGHTS RESERVED. .0000 = +.001 DRAWN BY: BFA DATE: 11/08/04| SCALE: NONE DWC.
ONE 8/1eoS," L5, LA REVERSE OR CONTOUS REVERSE OR CONTNUOUS | ONE 5/10°11-5/8" L. LAG CENTER anb 174" Tox 412 oA caw. mevese . Degrees = +1/2° [CHECKED BY: - DATE: — SHEET 1 OF 1 [SIZE
SCREW PER BRACKET OR TRACK AIGLE WOUNT TRACK ANGLE MOUNT TRACK SCREW PER BAACKET ok TRAcK WELD To¢ O ANGLE AT O CONTINUOUS ANGLE Third Angle Unless Stated Otherwise
CONCRETE SO oE. e DIRECTLY 10, STEEL wAME, Projection DIMENSIONS ARE IN INCHES.| DWG. NO.: 103334 VER: DI

4

S

2




